Compact Cooler Standard

-
FANTECH

CONTENTS & INSTALLATION INSTRUCTIONS
Contents:

Descrition Part No. Quantity

Axial fan SCE0564 1 off.

Bracket BRKT-F 3 off.

Installation Instruction INSTCCS 1 off.
Wheel Assembly.

Wheel & hubcap COM-WHEEL125 2 off.

Bolt 12"x3” long BOL1/2-3 2 off.

Washer 2" flat WAS1/2 6 off.

Washer %" spring WAS1/2SP 2 off.

Nut %2” hex NUT1/2 4 off.
Handle Assembly.

Handle HANDLECCS 1 off.

Bolt M12x25 long BOL12-25 1 off.

Washer M12 flat WAS12.0 1 off.

Washer M12 spring WAS12.0SP 1 off.
Final Assembly.

Bolt M10x20 long BOL10-20 12 off.

Nut M10 NUT10 12 off.

Washer flat M10 WAS10.0 12 off.

Washer spring M10 WAS10.0SP 12 off.

Grommet GROM-MUSH 2 off.
Inspection:

Ensure the unit has arrived in good condition and that all items are free of damage

Assembly:
Remove all the components from the carton.

Assemble the ‘wheel assembly’ and ‘handle assembly’ and bolt them and the other bracket to the fan as detailed below.

WHEEL ASSEMBLY.
Bracket \ ‘\

\ Nut

AN
\ Spring Washer

Flat Washer

Flat Washer

Bolt \
Hubcap o \
‘; A
% y
)

Remove the ‘wheel assembly’ components from the bag and assemble the 2 wheels to one of the brackets as shown above.

Part No.: INST-CCS 25/07/07



HANDLE ASSEMBLY.

| [ Bracket

Bot— 7 j K = Q
Flat Washer

Spring Washer

Remove the ‘handle assembly’ components from the bag and assemble the handle to one of the brackets as shown above.

Grommet \

FINAL ASSEMBLY.
Top of Fan
Handle Ass % -
N o

Ensure lead

f runs down case
\Y/

1. Remove the final assembly components from the bag.

2. Insert 2 off grommets into the holes in the other bracket as shown above. (twisting whilst pushing will aid fitment)
3. Place fan on a flat surface, guard down in the orientation as shown above.

4. Note the orientation of the junction box and ensure the lead exit from the junction box is facing down.

5. Position the bracket assemblies as shown above and assemble to case.

Safety Instructions

READ THESE INSTRUCTIONS CAREFULLY BEFORE USING THE PRODUCT, KEEP

THEM HANDY FOR FUTURE REFERENCE.
1. Always operate the Fan from a power source of the same Voltage, Frequency and Rating as indicated on the
Product Label.
2. This Fan must only be plugged into an approved socket, which is earthed in accordance with the Local
Electrical Supply Regulations.

o

The Fan must be assembled as per instructions.
This fan has a replaceable in-line fuse for motor protection. If fuse continually blows, switch the fan off

immediately and return the complete unit to the manufacturer or service agent, for repair.

®NoO

Always switch off and unplug the Fan from the supply when maintenance or cleaning is to be carried out.
Do not operate the Fan with either guard removed.

Do not move the Fan by pulling the supply cable.

Do not operate the Fan with a damaged Cord or Plug, or after the product malfunctions, or is dropped, or

appears damaged in any manner. Return the complete Fan immediately to the manufacturer or service agent,
for repair.

9. When cleaning, Do Not hose or apply high pressure water to the motor or electrics, simply wipe down with a
moist cloth or brush.

10. Always operate the Fan on a dry, level surface.

11. This product is not intended for use by young children or infirm persons without supervision.
Failure to follow the above safety instructions could result in abnormal operation, fire, electric shock or

injury.

WARRANTY:

Fantech Pty Ltd warrants products of its manufacture when not misused or neglected to be free of defects in workmanship and/or
materials. Our obligation under this warranty is limited to repairing or exchanging F.O.B. factory, any part, assembly or portion found
to be defective within one year from the date of commissioning but not to exceed eighteen (18) months from date of shipment from
our factory.

The Company assumes no responsibility for labour costs involved in the removal of defective parts, installation of new parts or related
service charges.

The Company shall have the option of requiring the return of the defective part (transportation prepaid by the Buyer) to establish the
claim.

Warranty will be void if installation is not carried out by qualified personnel in accordance with these instructions and good trade
practice.

Fully detailed warranty conditions are contained in Fantech’s Standard Conditions of Trading.

Part No.: INST-CCS 25/07/07




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


